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SIXTH SEMESTER B.B.A. DEGREE EXAMINATION, MARCH 2017

~ (CUCBCSS-UG)
BBA VI B 14—INDUSTRIAL RELATIONS
: Three Hours Maximum : 80 Marks
Part I
Objective Questions.
Answer all ten questions.
Choose the correct answer.
. Which among the following is the simplest form of peﬁalty for indiscipline ?
(a) Transfer.
(b) Warning.
(c) Suspension.
(d) Dismissal.
Which of the following is an approach of industrial relations
(a) Unitary perspective.
(b) Pluralistic perspective.
- (¢) Marxist perspective.
(d) All of these.
The objectives of trade union includes
(a) Representation.
(b) Legal assistance.
(c) Welfare benefits.
(d) All of these.
is the relationship between employer and employees.
(a) Social relation. :
(b) Industrial relation.
(¢) Family relation.
(d) Personal relation.
Which of the following is not a central organisation of workers ?
(a) Centre of Indian Trade Unions.
(b) National Labour Organisations.
(¢) United Trade Union Congress.
(d)
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